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Notei~ You have four choices tor each objective type guesticn as A, B, C and . The choice, which you think, is correct: fifl that girele in
front of that question number. Use marker or pen to fill the circles. Curtiag er filling two or more circles will resultin zero mark in thal
question. Write PAPER CODY, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles ace ordingly,
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{-'if;b/ _(’Lf Jr or Amountof .oyl ,"'/"”.;«‘L""A,ci" L}l»-_,:bk,f’.f 2. [j"/ B
Kilograimine gram Mole Newton o Subs‘{rance interms of number is measwred in -
Lk ool Jor sl Co sl § i e Sitiooir | 2
Displacoment Distance Speed Power Which of the following is a vector quantity?
P U'J:; L,}(U: J (-‘.:';t‘;’«',_’:JrJW’-'E/?/.F 3
Net force Force Veloeity Mass inertia depends upon
:JA; L}"/f J ./L'C wg’f—-ub 4
Force Friction Mass Scalar Weightis a
f"’,/fjd:‘z/fd/’;f ,{ﬁ’;};fx L,P/ S L,E&./rﬁ‘,g_.:r..,ifl’u%i_)TJU{;{'/;}J}lg..,@ui’ur?!j_.«lx» 5
Neutral Equilibrium A couple A torque Twoequal but u:nlike parallel forces having different
cquilibrium line of action produce.
6673107 | 6x10%Kg | 64x10°m | 9.8ms™ ceadfi@ eyt | 6
Nm'Kg* In Sl-unit, the ¥uloeof G is
1000 Km | 42300Kin | yhobsssd | 6400 Kin ceBentbudSEs S St | A
Infinity Farth's pravitational force of attraction vanishes at
100« 201~ 754 34 Efficiency ofan ideal system is _..";-u"v'-j'\fld/{:"/d&? 8
IMELg | Lyt |l b Ly P o S S STl I
ed Een e JJ"’ = S The density of a substance can be found with the
Prisiplenf | & ohimedes Hooke’s Pascal’s Law | help of
tost principle Law
Sl vt 2 {ot A7 30 et SI0 s zvad e ol | 10
Allofthe | Surface arca Wind Temperature | Which of the following affects evaporation?
above ofliquid X
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RORoIEn | Conneslin Radiation Conduction | Land and Sca breezes are also the examples of
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Angwer briefly suy Five parts from the followings. b Y
Estimate 20 years age in seconds.

What is meant by significant figures? And how many significant
figures are there in 0.0277

Define Dase quantities and base unita.

Differemtiate between distance and displacement.

A sprinder completes its 100 m race in 12 seconds. Find its

averages speed.

What will be the effect on the vaiue of centripetal force when the
velocity of body becomes double? (Give reason).

Define momentum and write its formula.

When a gun 1 fired, it recoils why?

Avgwerbriefly any Five parts from the followings. Fx2=10
State second condition of equilibrinm. Write its formula.

Distinguish between like and untike parallel forces.

Why the value of “g” is different on the surface/of'the earth.

Define geostationary orbit.

Write down the vaiue of “G” and mass of earth with SLuhis,
Define and write the Einstein’s mass energy equation.
Answerbriefly sny Five parts tmm the followings.

Define magma.
5%2=10
Define Pressure. Write its ST unit.

Loy S i G

Change 300 K on Kelvin scale into Celsius scale of temperature.

Define elasticity.

Define Latent heat of vaporization.
Write down any two factors on which rate of heat flow depends.
What causes a glider to remain in air?

Define conduction and convection modes of heat rrannier

Note: Atiempt any Two Questions.

What is meant by elastic potential energy?

gx2=18
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%.8. Derive Third Equation of motion with the help of speed-~time graph. 1+3 -.af.r’ Bhadsna g} S P s J Jf/ Fhodr
b. A bodyofmass § Kgis moving with a velocity of 10 ms’ ' foz s (o7 il 05 10ms™ ("" L \.r!.f s
Find the force reguired to stop it in 2 seconds. -« f?_y’*"‘(,r;}/b’u;’,,& LanJtiles
6.a. Determing a force from its perpendicular Components. aé’.’:i’(}”‘ e ,( s
A motor boat moves at a steady speed of 4ms™'. Water resistance J‘f _4.'“}1_4_,&/( :f.?.c,;.r R Mms Y evfs
° 2 1% 5 Yy 3 P o ] o | 4 5 >k .
acting on it is 4000 N. Calculate the power ofits engine? B J AL o 4000 N L.f“rbu(d’;, Jis i g
7.a. Define Thermai conductivity of a substance and Prove that 1+3 -Zf.: ity ﬁ; - /"’. J &:é’fiﬂ/g)' A J .E..gf( (a)7
¢ ' L
-K:-X-‘-—-—"-—'-" e R':--)(—-———-—-—-——’
£ AT - 1) T

b. An electric heater supplies heat at the rate of 1000 Joules per (! Fi 200-(.‘:_51’14’ el iel ;J 1000 Js™" jﬂ-f /:,l? i_u_,fl ®)

second. How much time is required to raise the temperature

0f200 g of water from 20 °Ct0 90°C?

W L2 £90°C < 20°C £ 460
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Watt Newton Kilogram Paseal | Which el the following unitis not a derived unie?
WO kmh 300 kb | 200 kb 760 kb _i_”"' Speed of Paleon to ‘ﬂ}f.,‘if e 3
s Ll S R A {w&’:j,,ﬁv (,jj Sl uf, A g
Power | Displacement Distance Speed Which of the following isl_a\.;\_/e't'.‘t01‘ quantity?
Fo=m v/r‘y F.=m 7y Tz mlw'lr Fozmv /s - HE b{'d‘w/' |“‘I" ! "u u[ =g A
The formula to {ind the centripetal force is
uﬂaﬂ-q_d g,u&,/so"_f, L /(v-‘x 8 Jur 101 .6
8.7 7N 5N 4N nral P
A foree of 10 W is making an angle of 30° with
horizontal, its horizontal component will be
b/f)ugld:, 100kg £ 4l 1.6 ms*z‘:,-xf\;g/_._(i/(_,(ﬂg )
1600 N 1000 N 160 N 160 M The value of ‘g’ on'teden surface ¢ el
1.6 ms™. What will be the weight of'a 100 kg body
on the surface of'the moon? |
P P o W 7
PN e Lu;’ubJuu:f” L BE | 8
25 34 22 24 The numbers of total satellites in Global Positioning
System are
Gkt e Aol oS s o | g
180° 45" 60° 90°

The work done will be zero when the angle between

the force and the distance is

S/,

Lead Aluminum Mercury

N\

Copper

?ﬁ:.uqc_u,/(o(m)c&-ujf

Which of the substance is the lightest one?

0K -273 K

32 °F

0°F

Water freczes at -e-bl ui..;'/,/,‘,/:i/;;u)'dl: A1

12 6

4

The faces of Leslie’s cube are -w&)’"\ffb/(jw){d/j 12
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Answer brielly say Five parts from the followmings. $8i=18

w gauge has 30 divisions on its circular scale. The pitch of

serew g s U.5 num. What is its Jeast count?

Define plasma physics and geophysics,

Write down two rules to identify significant figures,

Differentiatc between velocity and acceleration. Y
Define mementum and force.

Write two methods 16 reduce friction,

i 1/

#hy rolting friction i$ less than sliding friction?

. . L et
Convert L kinh  roms .

Answer briefly any Five parts from the folloerings.

Detine Axis of rotation.

Why the height of vehicles is kept as low s possibic?
Difterenniate between Torque and Couple.

Cn what factors the orbital speed of a satetiite depends?

vE 2

Vhal s meant by the force of gravitation?

ravilalion is important to us, glve reason,
Drefine power and wuite its formula.
Which form of energy is most preferred and why?

Answer briefly any Five parts from the followings. Sud=]

Lol

Write any two features of Kinetic molecular mode! of matter.
Defing Pressure and give its formula,

What 1s Greenhouse cff’ect??c‘:,yibﬁlg,fﬂ(uj/’ﬁ (iv)

Give any two properties of thermometric liquid.

How does heating affect the motion of molecules of a gas?
Write two uses of Convection cuirents.

Why are metals good conductors of heat?
Pattee el 1

Note: Attempt any Two Questions, 9x2=18
5.a.  Derive third equation of motion by graphical method. 143
b. A body has weight 20 N. How much force is required to 5
move it vertically upward with an acceleration of 2 ms ™7
6.a. Determine the mass of the Earth. 3%
The steering of a car has a radius 16 cm. Find the torque 5

produced by 4 couple of 50 N.
7.a. Explain the working ofa hydraulic system as a force multiplier. 4

b. A container has 2.5 titres of wazer at 20 °C. How much heat is 5

required to boil the water. 92& - 0922 - 70000
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